p.455,456

co kgCo0, 0 X% kgC0,/0
co kgCo, kWh x kgC0O,/kWh
€N co 1
1 1 1 Co2
x /1,000
= x /1.1 = x x
kWh 0/kWh o/h h < 0 kgC02/0 tC02
159 0.085 12.3 302 8 0.59 17,533 2.58 45
50 200t 235 0.089 19.0 326 8 0.80 39,642 2.58 102
10t 166 0.078 11.8 352 8 0.88 29,241 2.58 75
134 0.189 23.0 150 8 0.57 15,732 2.58 41
221 0.145 29.1 227 8 0.60 31,707 2.58 82
0.7 3 116 0.175 18.5 2,547 8 0.61 229,943 2.58 593
201 0.170 31.1 75 8 0.92 17,167 2.58 44
25 100t 271 0.103 25.4 1,307 8 0.76 201,843 2.58 521
C02 1,503
)1: 1 25
25
2 1 1
1 1.1
3: 11 143 1
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(2 1
1 1 1 o2
x /1,000
Kith 0/Kiih e - kgCo2/0 02
162 0.003 5.7 6 5] 0.67 12,00 2.58 B
e 70 0.152 6.7 b3 8 0.57 o73 5.5 3
600 800Kkg)| 60 0.175 9.5 22 8 0.74 1,237 2.58 3
50t 132 0.044 5.3 132 8 0.71 3,974 2.58 10
159 0.085 12.3 611 8 0.59 35,472 2.58 92
25t 162 0.044 6.5 88 8 0.71 3,249 2.58 8
5ot 13 0,089 10.7 4 8 0.80 3,013 5,58 8
50 100t 184 0.089 R 8 0.80 157,344 5.5 406
0.35 3 3 0.175 4.8 4 8 0.56 946 5.5 3
e 10 0.237 2.1 P 8 0.77 355 5.5 1
10t 166 0.078 11.8 1,001 8 0.88 90,632 2.58 234
221 0.145 29.1 880 8 0.60 122,918 2.58 317
19kW 19 0.227 3.9 22 8 0.77 529 2.58 1
0.8 111 235.3 0.093 19.9 22 8 0.73 2,557 2.58 7
379 0,111 38.2 55 8 0.67 3,325 5,58 g
Bt 7 0.100 6.5 4 8 0.54 1,23 5.5 3
80 8ok 3 0.301 0.8 & 8 0.73 308 5.5 1
it 546 0,050 112 660 8 0.78 16,126 5.5 i1
5VA P 0.170 6.5 242 8 0.92 11,577 5.5 30
0.4 3 64 0.175 10.2 330 8 0.61 16,426 2.58 42
0.45 3 74 0.175 11.8 88 8 0.61 5,067 2.58 13
0.6 3 104 0.175 16.5 264 8 0.61 21,257 2.58 55
0.7 3 116 0.175 18.5 1,201 8 0.61 108,426 2.58 280
0.8 3 124 0.175 19.7 110 8 0.61 10,575 2.58 27
21t 152 0.175 24.2 176 8 0.61 20,785 2.58 54
S5k 55 0.429 31.5 8 8 0.69 10,444 5.5 37
81Kl 8 0.151 i 176 8 0.69 10,784 5.5 3
3.1 85 0.108 8.3 22 8 0.64 935 2.58 2
191 0.044 7.6 2,736 8 0.69 114,781 2.58 296
224Kk 224 0.308 62.7 44 8 0.67 14,787 2.58 38
25t 193 0.103 18.1 242 8 0.76 26,632 2.58 69
50t 257 0.103 24.1 274 8 0.76 40,149 2.58 104
1ot 56 0.108 5.5 o 8 [ o.64 1,239 5.58 3
o 2,325
1 1 1 Co2
X /1,000
Kith 0/Kiih ot y kgC02/0 tC02
3.0 70 0.152 9.7 3 8 0.57 133 2.58 0
159 0.085 12.3 44 8 0.59 2,554 2.58 7
25t 162 0.044 6.5 10 8 0.71 369 2.58 1
10t 166 0.078 11.8 66 8 0.88 5,483 2.58 14
379 0,111 8.2 15 8 0.67 3,267 5,58 6
8t 71 0.100 6.5 15 8 0.54 421 2.58 1
1ot 546 0,050 112 35 8 0.78 50,547 5.5 53
04 3 & 0.175 10.2 8 8 0.61 4,380 5.5 i1
0.8 3 12 0.175 19.7 8 8 0.61 8,075 5.5 31
11t 78 0.175 12.4 22 8 0.57 1,244 2.58 3
3.1 85 0.108 8.3 12 8 0.64 510 2.58 1
191 0.044 7.6 594 8 0.69 24,919 2.58 64
10t 56 0.108 5.5 15 8 0.64 422 2.58 1
C02 183
)1 25
25
2: 1
1 1.1
3: 11 143 1
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3) co 2
1 1 1 Co2
x /1,000
Kilh 0/Kih =t h BV kgC02/0 02
162 0.093 13.7 132 8 0.67 9,693 2.58 25
159 0.085 12.3 558 8 0.59 32,395 2.58 84
85 0.175 13.5 352 8 0.65 24,710 2.58 64
50 100t 184 0.089 14.9 1,210 8 0.80 115,386 2.58 298
10t 166 0.078 11.8 834 8 0.88 69,282 2.58 179
221 0.145 29.1 1,245 8 0.60 173,902 2.58 449
10t 246 0.050 11.2 792 8 0.78 55,351 2.58 143
200kVA 201 0.170 31.1 96 8 0.92 21,974 2.58 57
0.4 3 64 0.175 10.2 352 8 0.61 17,521 2.58 45
0.6 3 104 0.175 16.5 1,012 8 0.61 81,486 2.58 210
0.7 3 116 0.175 18.5 506 8 0.61 45,682 2.58 118
21t 152 0.175 24.2 308 8 0.61 36,374 2.58 94
191 0.044 7.6 2,332 8 0.69 97,832 2.58 252
50t 257 0.103 24.1 528 8 0.76 77,367 2.58 200
C02 2,218
)1: 25
25
2: 1 1
1 1.1
3: 11 143 1
D ({0} 1
1 €O,
= x X x /1,000
kWh h (kWh) kgCO,/kWh tC0,
3kWh 3 36,630 8 879,120 0.518 455
150A 25 1,220 8 244,000 0.518 126
co, 582
1 €0,
= x x x /1,000
kWh h (kWh) kgCO,/kWh tC0,
3kWh 3 36,630 8 879,120 0.469 412
150A 25 1,220 8 244,000 0.469 114
co, 527
Co, 2011 24
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(2) (0] 1
1 €O,
MUY x /1,000
kWh (kWh) kgC0,/kWh tCO,
120tm 30 1,190 8 285,600 0.518 148
16-P 11KW 11 22 8 1,936 0.518 1
150A 25 9,492 8 1,898,400 0.518 983
3kWh 3 285,360 8 6,848,640 0.518 3,548
€O, 4,680
1 €O,
MUY x /1,000
kWwh (kWh) kgC0,/kWh tCO,
120tm 30 1,190 8 285,600 0.469 134
16-P 11KW 11 22 8 1,936 0.469 1
150A 25 9,492 8 1,898,400 0.469 890
3kwh 3 285,360 8 6,848,640 0.469 3,212
€O, 4,237
)1: o, 2011 24
2:
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(3) o0) 2
1 €O,
X X x /1,000
kith (kiwh) kgCO,/kWh C0,
120tm 30 2,600 624,000 0.518 323
150A 25 8,330 1,666,000 0.518 863
3kith 3 249,980 5,999,520 0.518 3,108
€O, 4,294
1 €O,
MY x /1,000
Kith (kwh) kgCO,/kih 1C0,
120tm 30 2,600 624,000 0.469 293
150A 25 8,330 1,666,000 0.469 781
3kWh 3 249,980 5,999,520 0.469 2,814
€O, 3,888
Co, 2011 24
(¢9)
co kgCo, kg kgC0,/kg
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(6{0] 1995
) )

D) 0.00565 ®) 7.44

0 0.00693 Q) 0.689

(©)] ® 1.782
@3.1) 0.1089 ©) 1.804
(3.2) 0.1903 (10)

) (10.1) 0.1030
4.1) 0.836 (10.2) 0.0414
4.2) 45 0.495 (11) 4.40

(12) 1.657
(4.3) 311.3
®)
(5.1) 1.507
(5.2) 0.469
Co,/ Co,/
@D Cco 1
Co,
X
CO,/
8 kgCo.
) o,/ ° (kgCo,
158,455 0.1903 30,154
32,286 311.3 10,050,632
6,844,244 1.507 10,314,276
3,586,626 0.469 1,682,128
CO, 22,077,190
Co,
X
CO,/
8 kgCo.
) 0,/ ° (kgCo,
166,000 0.00693 1,150
925,412 0.1903 176,106
1,125,608 311.3 350,401,770
70,008 1.507 105,502
135,768 0.469 63,675
Co, 350,748,203
)1: 8
2 kgCo,/ 3 kgC0,/kg
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(2) 0] 2
co,
X
CO,/
%) COZ/ 3 (kgCO,
2:
614,630 0.1903 116,964
208,208 311.3 64,815,150
23,219 1.507 34,991
15,880 0.469 7,448
C0, 64,974,553
)1:
2: kgCo,/ 3 kgC0,/kg
2
111 2- HFC-134a kg
HFC-134a kg x
(0] kgCo,
HFC-134a kg x 1,300
HFC 3
18 10
1) @ )
HFC-134a HFC-134a co,
) (tCo,
5,425 10 0.543 1,300 706
10,010 10 1.001 1,300 1,301
co, 2,007
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@) @ )
HFC-134a HFC-134a co,
= X X
) (tCo,
44,783 10 4.478 1,300 5,821
35,721 10 3.572 1,300 4,644
23,389 10 2.339 1,300 3,041
3,938 10 0.394 1,300 512
6,930 10 0.693 1,300 901
co, 14,919
€)) ¥ )
HFC-134a HFC-134a €0,
= X X
) (tC0,
47,714 10 4.771 1,300 6,202
46,815 10 4.682 1,300 6,087
20,129 10 2.013 1,300 2,617
3,938 10 0.394 1,300 512
6,930 10 0.693 1,300 901
co, 16,319
Co kg x CO kg/0
CH kg CO
0 x CH, kg/0 co
N,0 kg
0 xN,0 kg/0 co
0 km x 0 /km
1/

- 720 -




« 79)
(D)
9.33 10.3
1,999 6.57 7.15
2,000 4.96 5.25
999 9.32 11.9
1,000 1,999 6.19 7.34
2,000 3,999 4.58 4.94
4,000 5,999 3.79 3.96
6,000 7,999 3.38 3.53
8,000 9,999 3.09 3.23
10,000 11,999 2.89 3.02
12,000 16,999 2.62 2.74
18
66
Co,
Co, CH, N,0
0.00136 0.0547
0.00408 0.0758
0.00257 0.0758
tCO,/k0 | 2.32 0.00350 0.0576
0.00565 0.0644
0.00231 0.0713
0.00565 0.0906
0.000350 0.0181
0.00112 0.0242
tCO,/k0 | 2.62 0.00117 0.0287
0.00131 0.0596
0.00109 0.0310
tC0,/0 | 3.00 0.00229 0.0923
(LPG) tCO,/ke | 1.68 0.00128 0.0517
tC0,/ 3| 0.00600 0.00000458 0.000185
(13A) | tC0,/ *| 0.00236 - -
16 PRTR 18
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10

) co 1
Co, Co,
= x / x /1,000
( /0 0 C0,/0 o,
4,000 5,900 50 5,578 3.79 73,588 2.62 193
10,000 11,999 100 28,302 2.89 979,308 2.62 2,566
1,999 50 32,300 7.15 225,874 2.32 524
Co, 3,283
Co, Co,
= x / x /1,000
( /0 0 C0,/0 C0,
4,000 5,900 50 51,301 3.79 676,794 2.62 1,773
10,000 11,999 100 89,086 2.89 3,082,561 2.62 8,076
1,999 50 28,996 7.15 202,769 2.32 470
Co, 10,319
Co, Co,
= x / x /1,000
( /0 0 C0,/0 Co,
4,000 5,900 50 3,234 3.79 42,665 2.62 112
10,000 11,999 100 6,575 2.89 227,509 2.62 596
1,999 50 5,962 7.15 41,692 2.32 97
Co, 805
2 Cco 2
Co, C0,
= x / x /1,000
( /0 0 C0,/0 C0,
4,000 5,900 50 19,945 3.79 263,127 2.62 689
10,000 11,999 100 75,473 2.89 2,611,522 2.62 6,842
1,999 50 28,534 7.15 199,538 2.32 463
C0, 7,994
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(@) co 1
CH,
o, Co,
= x / x /1,000
/0 0 C0,/0 Co,
4,000 5,900 50 5,578 3.79 73,588 0.00117 0.086
10,000 11,999 100 28,302 2.89 979,308 0.00117 1.146
1,999 50 32,300 7.15 225,874 0.00136 0.307
CH, Co, 2
CH,
o, Co,
= x / x /1,000
/0 0 C0,/0 Co,
4,000 5,900 50 51,301 3.79 676,794 0.00117 0.792
10,000 11,999 100 89,086 2.89 | 3,082,561 0.00117 3.607
1,999 50 28,996 7.15 202,769 0.00136 0.276
CH, Co, 5
CH,
¢, C0,
= x / x /1,000
/0 0 C0,/0 Co,
4,000 5,900 50 3,234 3.79 42,665 0.00117 0.050
10,000 11,999 100 6,575 2.89 227,509 0.00117 0.266
1,999 50 5,962 7.15 41,692 0.00136 0.057
CH, C0, 0
(2) co 2
CH,
o, Co,
= x / x /1,000
( /0 0 C0,/0 Co,
4,000 5,900 50 19,945 3.79 263,127 0.00117 0.308
10,000 11,999 100 75,473 2.89 | 2,611,522 0.00117 3.055
1,999 50 28,534 7.15 199,538 0.00136 0.271
CH, Co, 4
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10(1) Cco 1
N,0
Co, €0,
= x / x /1,000
( /0 0 C0,/0 Co,
4,000 5,900 50 5,578 3.79 73,588 0.0287 2
10,000 11,999 100 28,302 2.89 979,308 0.0287 28
1,999 50 32,300 7.15 225,874 0.0547 12
N,0 Co, 42
N,0
0, Co,
= x / x /1,000
( /0 0 C0,/0 Co,
4,000 5,900 50 51,301 3.79 676,794 0.0287 19
10,000 11,999 100 89,086 2.89 3,082,561 0.0287 88
1,999 50 28,996 7.15 202,769 0.0547 11
N,0 Co, 118
N,0
0, Co,
= x / x /1,000
( /0 0 C0,/0 Co,
4,000 5,900 50 3,234 3.79 42,665 0.0287 1
10,000 11,999 100 6,575 2.89 227,509 0.0287 7
1,999 50 5,962 7.15 41,692 0.0547 2
N,0 Co, 10
10(2) Co 2
N,0
Co, €0
= x / x /1,000
( /0 0 C0./0 Co,
4,000 5,900 50 19,945 3.79 263,127 0.0287 8
10,000 11,999 100 75,473 2.89 2,611,522 0.0287 75
1,999 50 28,534 7.15 199,538 0.0547 11
N,0 Co, 94
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co kgCo, t
x CO kgC0,/t
CH kgCH, t
x CH kgCH,/t
N O kgN,0 t
xN O kgN,0/t
kgCo, CO
co kgCo, CH kgCH, x 21
N O kgN,0 x 310
11 143
11
11
CO, CH, CH, N,0
( Co,/t) ( CH/1) ( CH/t) ( N,0/1t)
[ CO,/ 1| [ Cov 1| [ CoY ]
- 0.00095[0.02] - 0.0567[17.6]
2,550 - - 0.17 [52.7]
- - 136[2,856] 0.010 [ 3.1]
- - 151[3,171] 0.010 [ 3.1]
12
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12(1)

Co,
x x /1,000
(kg/ ( Co, ( Co,
Co, 24 2,550 1 61 61
24 0.17 310 1.3
N,0 8 0.010 310 0.025 1
16 0.010 310 0.050
H, 8 136 21 23 4
16 151 21 51
Co, 136
Co,
x x /1,000
(kg/ ( Co, ( co,
Co, 235 2,550 1 599 599
235 0.17 310 12
N;0 75 0.010 310 0.23 13
162 0.010 310 0.50
H, 75 136 21 214 708
162 151 21 514
C0, 1,340
Co,
x x /1,000
(kg/ ( Co, ( €O,
Co, 1 2,550 1 3 3
1 0.17 310 0.053
N;0 0 0.010 310 0 0
1 0.010 310 0.0031
H, 0 136 21 0 s
1 151 21 3
Co, 6
)1: 2-9-3 p.444,445
24
17 6 13
2: 100
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12(2) 2

Co,
x x /1,000
(kg/ ( Co, ( €O,
Co, 271 2,550 1 691 691
271 0.17 310 14
N;0 80 0.010 310 0.25 15
172 0.010 310 0.53
H, 80 136 21 228 7
172 151 21 545
C0, 1,479
2-9-3 p.446
24 22
17 6 13
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co,

p.460
18
co Ucos
0,/
DBH Dy
2 2 2 18 11 2
3 2 2 32 21 5
4 3 3 53 35 11
5 3 3 70 53 14
10 4 5 250 180 53
15 6 7 530 320 140
20 8 10 700 530 -
25 10 13 1100 700 -
30 12 16 1400 1100 -
40 16 21 2500 1800 -
50 20 25 3500 2500 -
)1: DBH D,
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D Co
1
CO, CO,
x /1,000
kgCO,/ tC0,/
10 700 97 68
3 35 110 4
6 320 34 11
1 2 203 0
Co, 83
2
CO, CO,
x /1,000
kgCO,/ tC0,/
4 250 34 9
5 250 14 4
11 1100 2 2
4 180 166 30
1 2 131 0
Co, 45
Co,
18
3.5kgC0,/




co

Co,

2.8 CO/ yr

3.2 CO/ yr

3.2 3.5  COY/ yr
3.6
3.7 €0/ yr
4.1
3.7
4.2
18
1,2
co kgCO,/
Z x co kgCo0,/
20,000 2 x 3.5 kgCo,/ °?
70 tCO,/
1,2
co kgCO,/
Z x Cco kgCo0,/
6,400 2 x 3.5 KkgCOy/ 2
22 tC0,/
co kgCO,/
2 x Cco kgCO,/
7,600 2 x 3.5 KkgCO/ 2
27 tCO,/
co kgCO,/
zZ x Cco kgCo0,/

1,900 2 x 3.5 KgCOy/ 2
7 tCO/
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p.463,464

€y

co

kgCo0,/

C0,/

A/ x CO,

Co

kgCO,/A

co,

kWh

0.518 kgCO,/KWh Ot
[0.469 KgCO,/kWh]

0.69 KkgCO/kWh )2

Nm?®

2.36 kgCO,/Nm® )3

)1:

co,
24

2011

2001.6

- 731 -

£CO,/A



Co

COz COZ
X
KWh/ C0,/kh
(kith/ ) 2 3) €0,/ €0,/
Nm°/ CO2/Nm*)
kith 1,579,500 0.518 818
2,006
0.469 741 ,
[ 1 [ 1 [ 1.929 ]
Nm® 503,200 2.36 1,188
COz COZ
X
KWh/ C0,/kh
(kith/) 2/kilh) €0/ €0,/
Nm*/ CO2/Nm™)
kith 39,873,000 0.518 20,654
[0.469] [18,700 ]
Kith 22,873,000 0.69 -15,782 22,906
[ 20,952 ]
Nm® 7,641,581 2.36 18,034
5,705,666 2.36 13,465
1,678,087 2.36 3,960
257,828 2.36 608
COZ COZ
X
KWh/ C0,/kh
(kiih/ ) 2 3) €0,/ €0,/
Nm*/ C0O2/Nm™)
kith 39,873,000 0.518 20,654
[0.469] [18,700 ]
Kith 22,873,000 0.69 -15,782 21,382
[ 19,428 ]
Nm® 6,995,793 2.36 16,510
5,537,509 2.36 13,069
1,252,021 2.36 2,955
206,263 2.36 487
co, co,
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(2)

HFC
kg/ kg
HFC 3
18 10
4.5 20 2 20
4.5
HFC-134a HFC-134a co,
X X
(KgCO,/
5,425 4.5 1,300 317,363
10,010 4.5 1,300 585,585
co, 902,948
HFC-134a HFC-134a co,
X x
(KgCO,/
44,783 4.5 1,300 2,619,776
35,721 4.5 1,300 2,089,679
23,389 4.5 1,300 1,368,242
3,938 4.5 1,300 230,344
6,930 4.5 1,300 405,405
C0, 6,713,446
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HFC-134a

HFC-134a Co,
X X
(kgCO,/
47,714 4.5 1,300 2,791,254
46,815 4.5 1,300 2,738,695
20,129 4.5 1,300 1,177,517
3,938 4.5 1,300 230,344
6,930 4.5 1,300 405,405
Co, 7,343,215
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COo, kg ¢ x CO, kg/0

CH kg CO 0 x CH, kg/0 co
N,O kg CO 0 xN,0 kg/0 co
0/
km/ X 0 /km
TE/ X km
X 0 /km
km 5
0 /km
p.721
p.721
15 365 =7 x2 15 119

365 119 246

TE/ TE/ X
TE/ x
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Co

C0, C0,
= x / x /1,000
/ /0 0 C0,/0 C0,
1,999 10 392,380 7.15 548,783 2.32 1,273
10,000 11,999 10 2,309 2.89 7,990 2.62 21
CO, 1,294
CO, CO,
= x [/ x /1,000
/ /0 0 C0,/0 C0,
1,999 10 2,454,696 7.15 3,433,141 2.32 7,965
1,999 35 170,135 7.15 832,829 2.32 1,932
10,000 11,999 50 91,464 2.89 1,582,422 2.62 4,146
CO, 14,043
C0, C0,
= x / x /1,000
/ /0 0 C0,/0 C0,
1,999 40 1,157,570 7.15 6,475,916 2.32 15,024
1,999 35 139,047 7.15 680,650 2.32 1,579
o, 16,603
CH,
Co, €0
= x / x /1,000
/ /0 0 C0,/0 C0,
1,999 10 392,380 7.15 548,783 0.00136 0.746
10,000 11,999 10 2,309 2.89 7,990 0.00112 0.009
CH, o, 1
CH,4
0, o,
= x / x /1,000
/ /0 0 C0,/0 C0,
1,999 10 2,454,696 7.15 3,433,141 0.00136 4.669
1,999 35 170,135 7.15 832,829 0.00136 1.133
10,000 11,999 50 91,464 2.89 1,582,422 0.00117 1.851
CH, o, 8
CH,4
0, o,
= x / x /1,000
( / /0 0 C0,/0 o,
1,999 40 1,157,570 7.15 6,475,916 0.00136 8.807
1,999 35 139,047 7.15 680,650 0.00136 0.926
CH, C0, 10
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Co

N,0
Co, €0,
= x / x /1,000
( / /0 0 C0,/0 Co,
1,999 10 392,380 7.15 548,783 0.0547 30
10,000 11,999 10 2,309 2.89 7,990 0.0242 0
N,0 0, 30
N,0
o0, o,
= x / x /1,000
( / /0 0 C0,/0 Co,
1,999 10 2,454,696 7.15 3,433,141 0.0547 188
1,999 35 170,135 7.15 832,829 0.0547 46
10,000 11,999 50 91,464 2.89 1,582,422 0.0287 45
N,0 €0, 279
N,0
o0, o,
= x / x /1,000
( / /0 0 C0,/0 Co,
1,999 40 1,157,570 7.15 6,475,916 0.0547 354
1,999 35 139,047 7.15 680,650 0.0547 37
N,0 €0, 391
D
2-9-5 p.451,452
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€y

¥/

15

22

26

)1:
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20

(2)

3/
1
1
1
2
1
154
7
1
2
165
)1:
2:
4
32 20 18
18
23.8 28.6
0.0
0.0 7.1
1
16.7 4.8
11.9 0.0
59.5 40.5
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€y

x  /59.5
% %

23.8 8.80 100 880
0.0 0.00 100 0
0.0 0.00 100 0

22
7.1 2.63 10 26
16.7 6.17 550 3,394
11.9 4.40 380 1,672
22 59.5 22.00 5,972

x  /59.5
¥/ ¥/
23.8 10.40 100 1,040
0.0 0.00 100 0
26 0.0 0.00 100 0
7.1 3.10 10 31
16.7 7.30 550 4,015
11.9 5.20 380 1,976
26 59.5 26.00 7,062
21
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)

1
x  /59.5
¥/ ¥/ /
23.8 0.40 100 40
0.0 0.00 100 0
. 0.0 0.00 100 0
7.1 0.12 10 1
16.7 0.28 550 154
11.9 0.20 380 76
1 59.5 1.00 271
2
x  /59.5
¥/ ¥/ /
23.8 66.00 100 6,600
0.0 0.00 100 0
65 0.0 0.00 100 0
7.1 19.69 10 197
16.7 46.31 550 25,471
11.9 33.00 380 12,540
165 59.5 165.00 44,808
21
10 p.703
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10

kg/ 2 kg/
0.169 0.020 1,804
45,500
0.054 2,457
4,261
6,000 2 0.169 6,000 2
0.020
11
11(1)
/
5,946 5,946
880 880
3,394 3,394
1,672 1,672
26 26
5,972 5,972
/
7,031 4,261 11,292
1,040 0 1,040
4,015 1,804 5,819
1,976 2,457 4,433
31 0 31
7,062 4,261 11,323
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11(2)

1
/
270 270
40 40
154 154
76 76
1 1
271 271
2
/
44,611 44,611
6,600 6,600
25,471 25,471
12,540 12,540
197 197
44,808 44,808

(2)

p.725
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12

11



12

€02
x x /1,000
(kg/ (tCO2 (tCO;
CO2 9 2,560 1 24 24
CHa 2,170 0.00096 21 0 0
N0 2,170 0.0565 310 38 39
9 0.17 310 1
CO2 63
(o{073
x x /1,000
(kg/ (tCO; (tCO;
CO2 11 2,560 1 29 29
CH4 4,122 0.00096 21 0 0
NaO) 4,122 0.0565 310 72 73
11 0.17 310 1
CO2 102
1
Co,
x x /1,000
(kg/ (tCo, (tCO,
o, 0 2,560 1 1 1
CH, 99 0.00096 21 0 0
N,0 99 0.0565 310 2 )
0 0.17 310 0
€0, 3
2
Co,
x x /1,000
(kg/ (tCo, (tCO,
Co, 72 2,560 1 184 184
CH, 16,283 0.00096 21 0 0
N,0 16,283 0.0565 310 285 289
72 0.17 310 4
€0, 473
365
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€y

18
13
14
13 CO Ucos
CO,/
DBH Dy

2 2 2 18 11 2
3 2 2 32 21 5
4 3 3 53 35 11
5 3 3 70 53 14
10 4 5 250 180 53
15 6 7 530 320 140
20 8 10 700 530 -

25 10 13 1100 700 -

30 12 16 1400 1100 -
40 16 21 2500 1800 -

50 20 25 3500 2500 -

)1: DBH D,
2:
18
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14(1) co

Co, Co,
x /1,000
kgCO,/ C0,/

3 53 1 0

4 250 6 2

5 250 15 4

6 530 71 38

7 530 11 6

8 700 5 4

3 35 5 0

4 180 19 3

5 180 32 6

6 320 53 17

7 320 8 3

8 530 23 12

1 2 6,378 13

1 5 150 1

Co, 109
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14(2) co

CO, CO,
x /1,000
kgCO,/ tC0,/
4 250 47 12
5 250 63 16
6 530 129 68
7 530 143 76
8 700 5 4
10 700 97 68
11 1100 2 2
3 35 110 4
4 180 226 41
5 180 22 4
6 320 63 20
7 320 60 19
8 530 49 26
1 2 10,485 21
1 5 240 1
CO, 382
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14(3) co

CO, Co,
x /1,000
kgCO,/ tC0,/
4 250 18 5
5 250 16 4
6 530 163 86
7 530 131 69
8 700 52 36
3 35 2 0
4 180 87 16
5 180 34 6
6 320 92 29
7 320 52 17
8 530 33 17
1 2 10,062 20
1 5 240 1
Co, 306
2
6,200 2 2,500 2 4,700 2
15
3.5kgC0,/ 2
Co kgCO,/
2 x Co kgC0,/ 2
6,200 2 x 3.5 kgC0,/ ?
22 tC0,/
Co kgCO,/
2 x Co kgC0,/ 2
2,500 2 x 3.5 kgC0,/ ?

9 tC0,/
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co kgCO,/

2 x co kgCO0,/
4,700 2 x 3.5 kgCo,/ 2
16 tCO0,/
15 co
Co,
2.8 CO/ yr
3.2
3.7
3.2 CO/ yr
3.2 3.5 CO/ yr
3.6
3.7  CO/ yr
4.1
3.7
4.2
18
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